

# Pamela O'Grady

Four Star Homes, Inc. Leesburg, Mount Dora, The Villages, Eustis Office 4236 Jackson Street, Port Orange FL, 32127

352-706-6203 (direct) 352-320-4763 (office) 386-788-2444 (fax) pamelao@fourstarhomes.com

# PERSONABLE, PROFESSIONAL AND RELIABLE



**GORGEOUS UPDATED HOME IN A WATERFRONT COMMUNITY** 189 S Tara Dr, Tavares FL 32778 ML#: LB12094 **City: Tavares** Park: Tiki Village Year: 1978 Office: Leesburg, Mount Dora, The Vill

**Type: Manufactured Homes** Size: 24x36 (864 sqft) Agent: Pamela O'Grady

Price: \$79,900 Status: Active Bed/Bath: 2 / 1.5 Info: 352-706-6203

Totally Renovated and Move-In Ready! This beautifully updated 2 bedroom, 1.5 bath home is ready for its new owner. Step inside to find a fresh, modern look with all new flooring throughout, new kitchen cabinets, newer stainless steel appliances, updated light and ceiling fan fixtures, plus new vanities and commodes. The all-new step-in ceramic shower with grab bars offers both safety and style, with convenient access directly to the shed and laundry area. Enjoy the spacious front Florida ...



# ALL FRESHLY UPDATED INTERIOR. NOT A DRIVE BY 1509 Flora Lee Dr, Leesburg FL 34748 ML#: LB12092

Park: Palm Ridge MH Village Year: 1973 Office: Leesburg, Mount Dora, The Vill

City: Leesburg **Type: Manufactured Homes** Size: 12x61 (732 sqft) Agent: Pamela O'Grady

Price: \$18,900 **Status: Active** Bed/Bath: 2 / 2 Info: 352-706-6203

Step inside this beautifully updated 2 bedroom, 2 bath split-plan home and fall in love with its fresh, modern feel. The interior has been tastefully redone with all new subfloors and newer vinyl plank flooring throughout. A spacious angled kitchen boasts newer stainless steel appliances, plenty of counter and cabinet space, and even room for a cozy dining table. Neutral paint tones create a light, airy atmosphere, while abundant storage keeps everything neatly tucked away. The large Florida ...

#### HONEY, STOP THE CAR! YOULL SURELY MISS OUT IF YOU WAIT

80 Fountain Dr, Leesburg FL 34748 ML#: LB12091 Park: Leesburg Landing

Year: 1997

**City: Leesburg Type: Manufactured Homes** Size: 26x44 (1144 sqft) Agent: Pamela O'Grady

Price: \$34,999 **Status: Active** Bed/Bath: 2 / 2 Info: 352-706-6203

Office: Leesburg, Mount Dora, The Vill Priced well below market value for a quick sale, do not wait, schedule your showing today! This well-maintained home offers spectacular water views and a bright, open layout. The kitchen features stainless steel appliances, abundant cabinet space, and a convenient breakfast bar, perfect for casual dining. Vinyl plank flooring flows throughout the home for easy maintenance. Enjoy relaxing or entertaining in the screened room while taking in the scenery. Both bedrooms are generously sized, ...



#### NICELY UPGRADED 2/2 IN 55 PLUS WATERFRONT COMMUNITY 13152 GRAPE AVE, Grand Island FL 32735

ML#: LB12088 Park: Grand Island Resort Year: 1975 Office: Leesburg, Mount Dora, The Vill

**City: Grand Island Type: Manufactured Homes** Size: 24x48 (1152 sqft) Agent: Pamela O'Grady

Price: \$59,500 **Status: Active** Bed/Bath: 2 / 2 Info: 352-706-6203

Upgraded 2 Bedroom Home in 55plus Waterfront Community on Lake Eustis! Welcome to this nicely upgraded 2 bedroom, 2 bath home featuring stylish laminate flooring throughout and a functional galley kitchen with a cozy dinette area complete with a charming chalkboard wall perfect for notes, drawings, or family memories. An additional dining room offers space for gatherings, while the generously sized living room includes a sliding door that opens to the front yard. Enjoy extra living space in ...



Office: Leesburg, Mount Dora, The Vill

Size: 26x47 (1222 sqft) Agent: Pamela O'Grady

Bed/Bath: 2 / 2 Info: 352-706-6203

Waterfront Retreat in Lakes at Leesburg! This well-maintained 2 bedroom, 2 bath split-plan home offers peaceful water views and a layout perfect for both relaxation and entertaining. The spacious master suite features a sliding door that opens directly onto a 12 x 12 screened porch deal for morning coffee or evening breezes. The kitchen is a cook dream with updated guartz countertops, stainless steel appliances, abundant cabinetry, pantry, and a cozy breakfast nook. A built-in hutch in the ...

# **UPGRADES GALORE IN THIS STUNNING HOME, A TRUE MUST SEE!**

9705 HIckory Hollow Rd, Lot 92, Leesburg FL 34788 ML#: LB12079 Park: Hickory Hollow Estates Year: 1982 Office: Leesburg, Mount Dora, The Vill

**City: Leesburg Type: Manufactured Homes** Size: 24x48 (1152 sqft) Agent: Pamela O'Grady

Price: \$68,000 Status: Active Bed/Bath: 2 / 2 Info: 352-706-6203

EDUCED PRICE! - This beautifully updated 2 bedroom, 2 bath home is located in a charming, smaller waterfront community featuring a private boat launch and marina with direct access to Haines Creek and the Chain of Lakes. Step inside to a stunning kitchen complete with brand-new cabinetry, quartz countertops, newer stainless-steel appliances, and abundant storage. Both bedrooms and master bath have walk in closets giving you more storage space. Both bathrooms have been tastefully renovated with modern ....



#### HANDYMAN SPECIAL!! 2515 Leisure Lane, Leesburg FL 34748 ML#: LB12076

Park: Coachwood Colony Year: 1973 Office: Leesburg, Mount Dora, The Vill and schedule a showing today!

**City: Leesburg Type: Manufactured Homes** Size: 24x40 (960 sqft) **Agent: Pamela O'Grady** 

Price: \$9,999 Status: Active Bed/Bath: 2 / 2 Info: 352-706-6203

REDUCED PRICE! - Home is a 2 bedroom 2 bath and needs TLC. Use your imagination and make it your own. Call for details



#### NOT A DRIVE BY! WELL MAINTAINED HOME FULLY FURNISHED PRICED BELOW MARKET FOR A QUICK SALE

31 Lattice Dr, Lot 4, Leesburg FL 34788 ML#: LB12066 Park: Lakes at Leesburg Year: 1987 Office: Leesburg, Mount Dora, The Vill

City: Leesburg **Type: Manufactured Homes** Size: 24x42 (1008 sqft) Agent: Pamela O'Grady

Price: \$59,900 Status: Active Bed/Bath: 2 / 2 Info: 352-706-6203

Located in the prestigious Lakes at Leesburg, a premier 55plus community, this well-maintained 2 bedroom, 2 bath doublewide is priced below market value for a quick sale! Featuring a newer shingled roof (2024) and freshly painted interiors in a neutral palette, this home offers move-in-ready comfort and style. The functional kitchen provide ample cabinet and countertop space, while the spacious bedrooms ensure plenty of room to relax. Enjoy the added convenience of an inside washer and ...



CALLING ALL INVESTORS!! 39 Lattice Dr, Leesburg FL 34788 ML#: LB12065 Park: Lakes at Leesburg Year: 1988 Office: Leesburg, Mount Dora, The Vill

**City: Leesburg Type: Manufactured Homes** Size: 24x34 (816 sqft) Agent: Pamela O'Grady

Price: \$14,900 Status: Active Bed/Bath: 2 / 2 Info: 352-706-6203

Home is a complete rehab! Time to make it your own! Located in a great 55 plus park with tons of amenities! Call today for details!



#### THIS VERY WELL COULD BE THE HOME YOU HAVE BEEN WAITING FOR! PRICED TO SELL FAST! 87 Lattice Dr, Lot 486, Leesburg FL 34788

ML#: LB12060 Park: Lakes at Leesburg Year: 1990 Office: Leesburg, Mount Dora, The Vill

City: Leesburg **Type: Manufactured Homes** Size: 24x40 (960 sqft) Agent: Pamela O'Grady

Price: \$49,900 Status: Active Bed/Bath: 2 / 2 Info: 352-706-6203

This great doublewide is waiting for you in a vibrant 55 plus community just minutes from shopping, restaurants, and everyday conveniences! Featuring 2 bedrooms and 2 baths, this well cared for home offers an ideal blend of comfort and functionality. The L-shaped kitchen includes a pantry and newer stainless steel appliances, along with a built in table perfect for morning coffee or casual meals. The dining area features luxury vinyl plank LVP flooring, which continues into the spacious ...



#### NICE 2 BEDROOM 2 BATH SPLIT PLAN UNDER 30K 1761 Timber Ridge Circle, Leesburg FL 34748 ML#: LB12055 City: Lees

ML#: LB12055 Park: Palm Ridge MH Village Year: 1983 Office: Leesburg, Mount Dora, The Vill City: Leesburg Type: Manufactured Homes Size: 13x60 (780 sqft) Agent: Pamela O'Grady Price: \$26,900 Status: Active Bed/Bath: 2 / 2 Info: 352-706-6203

Dont miss this inviting home that lives larger than its square footage! With an additional 216 sq. ft. of finished Florida Room space, this residence offers flexible living and a comfortable layout. Enjoy the beauty of many newer windows that let in natural light throughout the home. The vinyl plank flooring adds modern appeal, while cozy carpeting in the bedrooms ensures comfort. The double-wide carport and extra parking out front provide convenience for you and your guests. Out back, relax ...

### GREAT 2 BEROOM 2 BATH HOME IN WATERFRONT COMMUNITY!

13048 Lemon Ave, Grand Island FL 32735 ML#: LB12051 C

Park: Grand Island Resort Year: 1979 Office: Leesburg, Mount Dora, The Vill City: Grand Island Type: Manufactured Homes Size: 24x32 (768 sqft) Agent: Pamela O'Grady

Price: \$34,900 Status: Active Bed/Bath: 2 / 2 Info: 352-706-6203

Enjoy the best of Florida living in this delightful 2 bedroom, 2 bath home located in a serene waterfront community on beautiful Lake Eustis. This well kept residence features a spacious living room, a functional kitchen, and two versatile bonus areas, a bright Florida room and a screened in room perfect for relaxing or entertaining. Step outside to your private backyard retreat, ideal for morning coffee or evening unwinding. A handy shed includes washer and dryer hookups, plus extra storage ...



#### VERY NICE 3 BEDROOM HOME IN ALL AGE COMMUNITY

 15840 SR 50, Lot 142, Clermont FL 34711

 ML#: LB12048
 0

 Park: Orange Lake
 1

 Year: 1991
 9

 Office: Leesburg, Mount Dora, The Vill
 4

City: Clermont Type: Manufactured Homes Size: 26x48 (1248 sqft) Agent: Pamela O'Grady

Price: \$78,000 Status: Active Bed/Bath: 3 / 2 Info: 352-706-6203

**REDUCED PRICE!** - Welcome to this beautifully updated 3-bedroom, 2-bath home located in an all-age community in Clermont. Situated on the quiet back stretch of the park and backing up to a privacy fence, this home offers peace and privacy in a friendly neighborhood setting. Inside, youll find a desirable split-bedroom floor plan with vinyl plank flooring throughout and fresh, neutral paint that complements any decor. The galley-style kitchen features a dedicated dining area separated by a knee wall, and a ...



# DARLING 2 BEDROOM 2 BATH HOME IN DESIRABLE 55 PLUS PARK

45 Lattice Dr, Leesburg FL 34788 ML#: LB12041 Park: Lakes at Leesburg Year: 1989 Office: Leesburg, Mount Dora, The Vill

City: Leesburg Type: Manufactured Homes Size: 26x36 (936 sqft) Agent: Pamela O'Grady Price: \$44,900 Status: Active Bed/Bath: 2 / 2 Info: 352-706-6203

**REDUCED PRICE!** - SELLER MOTIVATED! PLEASE BRING ALL REASONABLE OFFERS! Welcome to this well-maintained 2 bedroom, 2 bathroom home located in a desirable and vibrant 55plus park. Step inside to find beautiful vinyl plank flooring throughout, a spacious kitchen with ample cupboard and countertop space is perfect for cooking and entertaining. Enjoy peace of mind with a newer hot water tank 2025, durable metal roof, 2019, and HVAC system 2011. Relax in the screened porch, ideal for soaking in the Florida breezes ...



#### STUNNING AND WELL-MAINTAINED PARK MODEL HOME! 40840 CR 25, Lot 303, Lady Lake FL 32159

ML#: LB12028 Park: Blue Parrot Park Year: 1989 Office: Leesburg, Mount Dora, The Vill REDUCED PRICE! - Discover this charmin City: Lady Lake Type: Manufactured Homes Size: 12x40 (480 sqft) Agent: Pamela O'Grady

Price: \$25,900 Status: Active Bed/Bath: 2 / 1 Info: 352-706-6203

**REDUCED PRICE!** - Discover this charming and fully furnished 2-bedroom, 1.5-bath park model home, perfectly located at the front of the park. With an open front porch and a beautifully finished addition seamlessly integrated into the interior, this home feels much more spacious than expected. Enjoy a bright and functional kitchen with extra cupboards and a pantry, plus the convenience of an in-unit washer and dryer located off the master bedroom, accessible from both inside and outside. Natural light pours in ...



#### ADORABLE PARK MODEL WITH STUNNING LAKE GRIFFIN VIEWS! 47 Lake Griffin Dr, Lot 24, Fruitland Park FL 34731

ML#: LB12026 Park: Lakeside Terrace Year: 1986 Office: Leesburg, Mount Dora, The Vill City: Fruitland Park Type: Manufactured Homes Size: 12x35 (420 sqft) Agent: Pamela O'Grady

Price: \$31,900 Status: Active Bed/Bath: 1 / 1 Info: 352-706-6203

Discover this super cute 1-bedroom, 1-bath park model, fully furnished and ready for you to move in! This cozy retreat features a bonus room with washer and dryer hookups and gorgeous knotty pine tongue-and-groove paneling, adding warmth and character. Enjoy peaceful mornings and evenings on the screened porch, perfect for relaxing with a view. Home boasts a newer TPO roof in 2024, and newer laminated flooring throughout main home. The home boasts an extra-wide driveway for additional ...



### AWESOME HOME LOCATED IN DESIRABLE LAKES AT LEESBURG!

16 Bahia Way, Leesburg FL 34788 ML#: LB12015 Park: Lakes at Leesburg Year: 1985 Office: Leesburg, Mount Dora, The Vill

City: Leesburg Type: Manufactured Homes Size: 26x49 (1274 sqft) Agent: Pamela O'Grady Price: \$39,999 Status: Active Bed/Bath: 2 / 2 Info: 352-706-6203

**REDUCED PRICE!** - Welcome to this spacious 2-bedroom, 2-bathroom home in the sought-after Lakes at Leesburg community! Boasting nearly 1,300 square feet, this split-plan layout offers both comfort and convenience. Enjoy cozy evenings in the living room with a fireplace, and take advantage of the galley kitchen with ample cupboard space. The dining room features a built-in hutch, adding both style and storage. An inside washer and dryer provide everyday ease, while the Florida room offers a perfect spot for ...



#### DESIRABLE LAKES AT LEESBURG MOVE IN READY! LOTS OF UPGRADES ALREADY DONE!

**39 SEA FERN DR, Leesburg FL 34788** ML#: LB12004 Park: Lakes at Leesburg Year: 1987 Office: Leesburg, Mount Dora, The Vill

City: Leesburg Type: Manufactured Homes Size: 26x44 (1144 sqft) Agent: Pamela O'Grady Price: \$55,000 Status: Active Bed/Bath: 2 / 2 Info: 352-706-6203

DONT MISS OUT ON THIS WONDERFUL OPPORTUNITY! MANY UPGRADES ALREADY DONE, MOVE IN READY! You do not want to miss out on this beautifully updated home, packed with upgrades to make your move-in seamless. The newer metal roof (2023) and updated plumbing ensure durability and reliability, while the energy-efficient thermo-pane windows enhance comfort. The open kitchen is a standout feature, boasting updated stainless-steel appliances and plenty of cabinets and cupboard space, and new skylight, ...



29 Lattice Dr, Lot 585, Leesburg FL 34788 ML#: LB11954 C Park: Lakes at Leesburg T Year: 2018 S

Office: Leesburg, Mount Dora, The Vill

City: Leesburg Type: Manufactured Homes Size: 24x48 (1152 sqft) Agent: Pamela O'Grady Price: \$119,900 Status: Active Bed/Bath: 2 / 2 Info: 352-706-6203

**REDUCED PRICE!** - Discover the perfect blend of comfort and style in this meticulously maintained Skyline Home. Just six years old, this residence features an enclosed front deck with screens, offering a delightful space to enjoy the outdoors without the bugs. Step inside to find an open-concept kitchen designed for convenience and elegance. With ample cupboard space and a striking center island with storage, it doubles as a breakfast bar or additional countertop area. The adjacent dining area and living room ...



#### DO NOT MISS THIS GOLDEN OPPORTUNITY! OWN YOUR OWN HOME FOR LESS THAN RENTING! 48 Bayberry Dr, Leesburg FL 34788

ML#: LB11918 Park: Lakes at Leesburg Year: 1993 Office: Leesburg, Mount Dora, The Vill City: Leesburg Type: Manufactured Homes Size: 26x40 (1040 sqft) Agent: Pamela O'Grady Price: \$49,900 Status: Active Bed/Bath: 2 / 2 Info: 352-706-6203

SELLER MOTIVATED, PLEASE BRING ALL REASONABLE OFFERS!! Welcome to this charming 2 bed, 2 bath home located in the desirable Lakes at Leesburg community. This fully furnished home offers convenience and comfort with an inside washer and dryer for added convenience. The extra-wide driveway is perfect for both your vehicle and golf cart, making transportation a breeze. Enjoy easy access to the finished Florida room with a wooden ramp for added accessibility. The home features a spacious living ...



# 1 BEDROOM SUNKISSED VILLAGE RV RESORT 14330 US 441 , Lot 150, Summerfield FL 34491

ML#: OM3349 Park: Sunkissed Village RV Resort Year: 2024 Office: Leesburg, Mount Dora, The Vill City: Summerfield Type: Manufactured Homes Size: 13x35 (455 sqft) Agent: Pamela O'Grady

Price: \$119,900 Status: Active Bed/Bath: 1 / 1 Info: 352-706-6203

Experience the ultimate in luxury retirement living with this 2024 ScotBilt home, offering 455 square feet of meticulously designed space. Nestled in the pristine community of Sunkissed Village RV Resort, an active 55 plus retirement community, this home provides an exceptional lifestyle tailored for those seeking both comfort and quality. The interior features top-of-the-line black appliances, perfect for modern culinary adventures, and a stackable Whirlpool washer and dryer for added ...



22 Listings